
 

Module 05    Wechselprapositionen 

Two way preposition known as “wachsel Präpositionen” in German are prepositions where the 

case of the noun following it can either be in the accusative or the dative in this lesson we teach 

only auf, an and in prepositions in German. Whether it is in the accusative or dative depends on 

the context of the sentence and usually the verb gives an indicates a direction or movement then it 

takes the accusative. 

This means that it is the answer to a wohin question. 

Example; 

Wohin geht Michael? 

   Er geht auf den Balkon 

   Er geht an die Tür 

   Er geht in das Haus 

as well as we can contractions with two-way prepositions as follows 

 in das  ins 

 an das  ans 

We can get above example to teach these contractions 

Example  

  Er geht in das Haus             Er geht ins Haus 

 

In Dative case 

In this case answers the question where (wo) is something / some one 

Example  

Wo ist Michael? 

  Er ist auf dem Balkon 

Er ist an der Tür 

Er ist in dem Haus 

 

This part we can contraction its two-way prepositions 

Examples   

Er ist in dem haus  Er ist im Haus 
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Question   

 

Ergänzen Sie die fehlenden Wörter. 

 

 

 

akkusative (wohin) 

01. Der Kater lehnt sich_____________________ ______________ Wand. 

02. Die Katze klettert___________ ____________ Sofa. 

03. Die Katze lauft ______________ ____________Sofa. 

04. Die Maus geht ___________ _____________Tisch. 

 

Dativ (Wo ) 

01. Die Bilder hangen __________ ____________ Wand. 

02. Die Katze sitzt______________ _____________Sofa. 

03. Der Fisch schwimmt ___________________ ________________ Meer. 

04. Der Hund liegt ________________ _______________ Tisch. 

05. Die Katze hangt _____________ __________ Sofa. 

 

 


